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Topic:- DU_J19_MPHIL_EDU

1) Which of the following statistical technique is a measure of relative position?

frafaf@a # & Fla-d wiftadr aeeds wnfEs Rafa fram g ?
[Question ID = 24552]

1. Percentile score / 2T 9Tedieh [Option ID = 38206]
2. Range / 9R&X [Option ID = 38203]

3. Standard deviation / #ATsTeh fa=relsT [Option ID = 38205]
4. Variance / 9930T [Option ID = 38204]

Correct Answer :-
« Percentile score / eTdd® e UTCdish [Option ID = 38206]

2) Which of the following statement is true for Stratified Sampling Method?
I: The strata should be mutually exclusive and collectively exhaustive.

II: The strata should be interdependent and collectively exhaustive.

III: The members within a stratum should be as homogenous as possible.
IV: The members within a stratum should be as heterogeneous as possible.

Faia yface aaa A F Fav A ReR@a A a Fla-arsaaaw g ?
I: T TER H9aoid AR AHARF @ qoF g1 =g |

II: T AT AR arfes &9 & qof @i =g |

II1: STgT 9% T &) T & T U AT g1 91U |

IV: STl do §HT & TR & Wery e @1 aifiRv |

[Question ID = 24567]

1.Iand IV /I 3R IV [Option ID = 38264]
2.1 and III / I 3R III [Option ID = 38263]
3.1 and IV / II 3R IV [Option ID = 38265]
4, 11 and III / II 3R III [Option ID = 38266]

Correct Answer :-
e TandIII /I 3R III [Option ID = 38263]

3) Which of the following is characteristic of qualitative research?

frafafa & & uners e F1 sffesor sa-ard 2
[Question ID = 24568]

1. Analysis of data using statistical tools / 373l & Ta2eYoT & forT FITEITRTT IUSHOIT T WAL [Option ID =
38268]

2. Standardized tests and measures / mﬁwﬁm 3R #19 [Option ID = 38270]

3. Generalisation of findings / fars&ut &7 AMATEARIOT [Option ID = 38267]

4, Unique case orientation / 379=a &y 31fAfa=ara [Option ID = 38269]



Correct Answer :-
« Unique case orientation / 3= &d 3fATd=ara [Option ID = 38269]

4) Which of the following is incorrect about ‘Theories’?
fArafaf@a & ¥ Fia a1 Fya ‘Rgal’ F R A Taqa @ ?
[Question ID = 24548]

1. Theory, once established becomes a law. / T IR TATIT g1 & d1G [AgIed 19 &1 o1 & | [Option ID =
38189]

2. Theory explains phenomena, thus enabling prediction. / TRgTed TaeAT ST STTEAT I § 3R 3T YHR
Tl &l H8Td &=ATelT & | [Option ID = 38190]

3. Theory presents a systematic view of phenomena described by variables./ f&g=d =t GEEIRY gioTa TereaAT3it
T Ueh gAY €S Jd sar ¢ | [Option ID = 38188]

4, Theory is a set of prepositions consisting of defined and inter related constructs./ Rgled IR 3R
et RfATTAT & g eaTde3t 1 geeaa g1 [Option ID = 38187]

Correct Answer :-

 Theory, once established becomes a law. / T& IR T glel & d1G AGled 1T & oIl ¢ | [Option
ID = 38189]

5) Which of the following is incorrect about qualitative research?
frrafaf@a & & qoncas My F Gy A FT I adi e ?
[Question ID = 24550]

1. Tt also results in some quantification. / &eT RO Fe IRATUTT 8 g1aT & | [Option ID = 38196]

2. Document analysis can be a type of qualitative research. / E&dTdst fa2eISOT IUTcH QATLT T TR &1 Tehell
¢ | [Option ID = 38198]

3. It is a unitary approach following the steps of positivistic research. / Ig WcI&TaTar T & TRUI T ITeATeT
qTell UehlcHe 39TTH ¢ | [Option ID = 38197]

4. It is based on phenomenological paradigm which uses a variety of interpretive research methodologies. /
g TcaT dAd FfadT oX 3maRa & 5 fafayr carearcas over fafeay &1 392ier #ar g | [Option ID =
38195]

Correct Answer :-

« Itis a unitary approach following the steps of positivistic research. / Ig YcT&Tarer 2er o TRUM Sl TeATe
gTelT UehTcHeh 39TeTH ¢ | [Option ID = 38197]

6) Which of the following is incorrect about Normal Probability Distribution?

e @T & O FlT-"T FuT T TRTFdTaF & v Taa & ?
[Question ID = 24553]

1. When the Normal Probability Curve is symmetrical, the mean, median and mode have same value. / SI§
ATHT ITAhdT ash GATAT gIdT &, AT, mwwwmwm% | [Option ID = 38210]

2. If the distribution is divided into two equal parts then one half is above the mean and the other is below
the mean. / I ST 7 a1 FATT fowal 3 Faamarer famam ST A 3mem AT § SO g1em 3R gErr e fewar
HTET I =i g9 | [Option ID = 38207]

3. The probability of an event occurring between the mean and +1.00 S.D. is 0.343. / #ATeT 3R +1.00 AT
faerereT & S afed gl arel TreaT T 91idshar 0.343 & | [Option ID = 38208]



4. The Normal Probability Curve is limited from +3.00 S.D. to -3.00 S.D. No case falls outside this limit. /
AT ITfASdT ash +3.00 ATS aae & -3.00 ATAS et do AT §1 F1S FT 57 AT & S8
37aTEUd 76T &aT | [Option ID = 38209]

Correct Answer :-

« The Normal Probability Curve is limited from +3.00 S.D. to -3.00 S.D. No case falls outside this limit. /
AT RSdr g +3.00 ATH [Aad A -3.00 AS Fad ds SR &1 FIS $9 58 T F Tl
3rafeyd wigt giar | [Option ID = 38209]

7) Which of the following branch of philosophy would examine moral values, standards of
ethical behaviour, and values in beauty and art?

farafaf@a & & gefar 1 Fia-wt amar Afaw e, Afas sgger & AaHt 3R YaIar va Far F HeAl F ademor
FTAANE?

[Question ID = 24593]

1. Epistemology / FATA-HAET [Option ID = 38367]
2. Logic / d&emEs [Option ID = 38370]

3. Metaphysics / dcca-HreTaT [Option ID = 38368]
4. Axiology / Hea-HIATET [Option ID = 38369]

Correct Answer :-
+ Axiology / #ea-##maT [Option ID = 38369]

8) Which of the following branches of philosophy would engage with the question- ‘On what do
we base our knowledge of the world and our understanding of truth’?

I F I AR A 3 G F 9 gAY THET FT F41 YR Qa1 § ? Pefafld § @ g Y Fia-d emar
A NAT TG & ?

[Question ID = 24579]

1. Epistemology / JTT-#H&A/ET & [Option ID = 38311]
2. Metaphysics / deca-HrATET & [Option ID = 38312]
3. Aesthetics / Elegd-FaAraT & [Option ID = 38314]
4, Ethics / ST & [Option ID = 38313]

Correct Answer :-
« Epistemology / JTT-#Hr&mAT & [Option ID = 38311]

9) Which of the following is not considered gender stereotyping?

fArafaf@a # ¥ 5 o= wReagar ¢t A smar ?
[Question ID = 24588]

1. An advertisement where the woman handles work, home and kids. / ¥&T fa=T9 Tor@e Afger Fre, STt
IR EHr @A § | [Option ID = 38348]

2. A children’s book where the father does household chores. / s=af &Y qEIH TSG# AT &) T HIHSBIST Al
¢ | [Option ID = 38349]

3. A television program in which doctors are males and nurses are females. / Eg?%ﬁ?—f FIHA ST siFex ey
g 3R 7% \fgeT | [Option ID = 38347]

4. A movie in which the hero always saves the heroine from danger. / Tafa, [T ATIS gHRAT AT Hi
YR ¥ 91T & | [Option ID = 38350]



Correct Answer :-

« A children’s book where the father does household chores. / <=t T qEde fSIH AT B T SRRt
FIAT & | [Option ID = 38349]

10) Which of the following is not a valid dichotomy pertaining to research in education?

farafaf@a & & frem & Ay & day & Fla-wr e dradi ¢ |
[Question ID = 24561]

1. Objective-Subjective / a¥Jf@sa-favafass [Option ID = 38241]

2. Longitudinal-Horizontal / 3/=J&€% -&ifcrst [Option ID = 38242]

3. Empirical-Philosophical / H@ﬂﬁ?—ﬂ%ﬁ? [Option ID = 38240]

4. Quantitative-Qualitative / WW‘I‘IW-W [Option ID = 38239]

Correct Answer :-
« Longitudinal-Horizontal / 3fJ&Ed -&ifdisT [Option ID = 38242]

11) Which research method is also called as ‘Practitioner’s’ research?

e aer-ugfar t gfcas atw sh Fer SITar 8 2
[Question ID = 24569]

1. Historiography / Sfagra-or@eT &Y [Option ID = 38274]

2. Experimental research / 9a13Tcaeh 2MTer &l [Option ID = 38273]
3. Ethnographical research / s-SiTei Qe sl [Option ID = 38272]
4, Action research / ToRaTcae Y &I [Option ID = 38271]

Correct Answer :-
« Action research / fshdTcHe® QT &l [Option ID = 38271]

12) Which one of the following statements is correct about interactionism?

Arfaf@T # @ Fla-wr Fra s FaEE F Ry Fad ¢ ?
[Question ID = 24584]

1. It regards society as a system, hence it is sometimes referred to as systems theory. / Ig TS I
SYGEYT AT & SATAT 30 Fel-FHfT cHaear-Rgled & dik R fAfcse fovar smar § | [Option ID = 38332]

2. It usually rejects the notion of a social system and so it does not regard human action as a response or
reaction to system. / ¥g HIHI: HIHATIoIh STGEAT I UROT &I I FT & AR safaw Alera fomar 1
3TITohaT 3TUAT SHAEUT o Hict 3eAfshaT & &9 H ¢! AlIdm | [Option ID = 38333]

3. It offers a general explanation of society as a whole and as a result is sometimes known as macro theory.
/ TE THI T { TATS T AT I T Rl & R IROTATTET FHaf-hell Rgial & § & ST sirar
g | [Option ID = 38331]

4, Tt tends to see man’s behaviour as shaped by the norms and values of the social system / 3&& Hsg &

SIAEN T HIATTTh cTGEAT & Hlelehl AR Hedl GaRI ?@Tgﬁé‘@ﬁﬁﬁ%@?ﬁ% | [Option ID = 38334]

Correct Answer :-
o It usually rejects the notion of a social system and so it does not regard human action as a response or

reaction to system. / ¥& HIHTI: HIHTISTeh STGEUT T YOI &l 3T Al § AR SATAT Alera fopar
T 3TITohAT 31T HGEAT & G 3 fohaT & §9 A ¢l ATAT | [Option ID = 38333]



13) Albert Bandura considers .......c.corirereinnnnnnn as a person'’s expectancy of how effective his or
her efforts to accomplish a goal will be in any particular circumstance.

et faflree aRfeufa & fFdlt 3o i mita & fore et safdFa & wame fRraer worrdlt 81, & |aer &F 3w
TEATRAT FY ICTE TZW wevnnrnrsesnans AAATE |

[Question ID = 24591]

1. self-efficacy / TcA-THATAIcATGhdT [Option ID = 38362]
2. self-esteem. / 3ITcH-GFAT [Option ID = 38361]

3. self awareness / ATcA-IARFRAT [Option ID = 38360]
4, self-image / 3TcA-Bfd [Option ID = 38359]

Correct Answer :-
o self-efficacy / TcA-gHTAITTGHRAT [Option ID = 38362]

14) A distribution is said to be "skewed” when the mean and the median are at different points
in the distribution. Which of the following statement is not correct with respect to skewness of a
distribution?

el st it aa “Rva” e Srar @ ST Ay 3R At dea ¥ Bewr-few faegat waa § | @ i
¥ 9T & ANFT F U A FIFA-UT FAT T AT ¢ ?

[Question ID = 24556]

1. Distributions are said to be positively skewed when scores are accumulated at the high end of the scale
(Right hand side). / Scat Y €ATcHS &G & TITH gl ST § ST TTCdich AT F 3= B (SIfely %) W
Zehg g1 oIl & | [Option ID = 38220]

2. A distribution is said to be “skewed” when the mean and the median are at different points in the
distribution./ S€=T ! \TaWe’ SgT ST & ST9 ALY 3R ATELRT dcol o it See3il T gid & | [Option ID
= 38222]

3. In a normal distribution, the mean equals the median exactly. / HTH=Y de=T & ATET ATEAHT o Toelhel
SRR 8T & | [Option ID = 38219]

4. The more distributions approach to the normal distribution, mean and median gets closer to each other. /
S §eoT HIAY §ea & 38 e gid 8, ATed 3R Afegent Ueh-g@l & 31f8e §#9 37 S1d § | [Option ID
= 38221]

Correct Answer :-

« Distributions are said to be positively skewed when scores are accumulated at the high end of the scale
(Right hand side). / et I UaATcHS FT & TATH HgT SATAT & ST UTCdieh AT & 3T DR (STieatT aw)
9T 53 & ST & | [Option ID = 38220]

15) Manisha says "milk” whenever she wants her milk from the kitchen . Subsequently, she says
“milk” after she has had a drink. Using a single phrase to mean different things is an example of:

HeATST 57 3 THSER & QU A6l @ 9 QU FEcl § | W f 9T a8 Fo AR M R AR ¥ @ g drwwh ¥
RAffiea A=t F T v & 3T FT TN FIAT 30T &

[Question ID = 24587]

1. holophrase. / gleilthet T [Option ID = 38345]

2. private speech. / 9Tsde TdI=T &1 [Option ID = 38344]
3. public speech / 9feerer T &T [Option ID = 38346]
4., telephrase / ellthet T [Option ID = 38343]

Correct Answer :-



« holophrase. / greilthet T [Option ID = 38345]

16) In a quantitative data, a researcher can improve validity of the research work:
I: through careful sampling.

II: limiting the variables.

III: choosing appropriate instrumentation.

IV: applying appropriate statistical treatments of the data.

Which among the following is true?

IROTATHS goad AT F, eersheat aiver iy derar ¥ GUR FT FFaT 2
I Fraereiqet gfoeaer &

II i &t AT w3&

II1 39YFc ST T TqA FIH

IV g Il & AT suged Wifeasdha fawaort 1 srquair w36
o ¥ sla-wraw g ?

[Question ID = 24559]

1. Tand III / I 3R III [Option ID = 38234]

2.1, I & IV / I, III 31X IV [Option ID = 38233]
3.1, 1 & III / I, II 3i III [Option ID = 38231]
4.1, T &IV /1, II 3R IV [Option ID = 38232]

Correct Answer :-
o I,III &IV/I, III 3iR IV [Option ID = 38233]

17) In a research hypothesis, stated as, ‘the higher the income of the parent, the better the job
prospects of their children’, which of the following is true?

MY-YTFheqaT FFAHTGH! Y 3T Faet 31w 9ft, 3aF Teut & AT ATIR ¥ FHGAT dga) iy, & Fest &
T A dFraa g ?

[Question ID = 24566]

1. Both are dependent variables / gieAt 3fd TX & | [Option ID = 38262]

2. Both are independent variables./ g\t Tad¥ @ § | [Option ID = 38261]

3. Income of the parents is an independent variable and job prospects is a dependent variable./ 31f&sTaet $r
3T TadT R & 3R AR Fr Garaar 3nfa =X & | [Option ID = 38259]

4. Job prospects is an independent variable and income of the parents is a dependent variable./ TSI Fr
HHTTAT TaaT =R & 3R 31fRHemasnt $r 3mr 3nf3a = & | [Option ID = 38260]

Correct Answer :-

« Income of the parents is an independent variable and job prospects is a dependent variable./ 31f&#Taer
FI 3T TadT = g 3R AR 6 Fetraar 3nf8d T & | [Option ID = 38259]

18) According to Sternberg, “"book smarts” is another way of talking about which kind of
intelligence?

TEAGH F HTAR ‘T TACH’ I & fFF R F a0 & 19 FI F7T q@ 0 T g ?
[Question ID = 24586]

1. Analytical. / fa2eivoTIcas [Option ID = 38339]
2. Practical. / sa1agTiRe [Option ID = 38341]
3. Functional fixedness. / @TaTcHe® Sgdr [Option ID = 38340]



4, Emotional / @raf3tes [Option ID = 38342]

Correct Answer :-
« Analytical. / TJ@2ewuTTeas [Option ID = 38339]

19) “A research design allows the investigator to draw causal inferences and observe, with
relatively little difficulty, whether or not the independent variable causes changes in the
dependent variable.”

Which of the following research design is under description in the above statement?

“TF MY HAFET HFATF Y IIGFHA FH HISATS F WY FROMcHAT forsawd faswrera AR Ja1or Fa & A
FAT & T Taa=a = AT I FF IRaflT 3 & 3rear 781 17
39dFd Fua A fArafaf@a & @ frw o siffse #1 aofa BT § 2

[Question ID = 24546]

1. Case-Study based Research Design / saferddcd 3ea3eT 3MeTRe eier 3iffished s [Option ID = 38179]
2. Exploratory Research Design / @dH=ausT e 3fdeheq T [Option ID = 38182]

3. Experimental Research Design / YaTeTTcaeh 2ITer 31f@ehed T [Option ID = 38181]

4, Survey based Research Design / TdfeToT 3T QT 31fAehed s [Option ID = 38180]

Correct Answer :-
« Experimental Research Design / Ja1aTicdH® QT 3ifAehed T [Option ID = 38181]

20) Educational institutions and industry, both in the public and private sectors, should ensure
equitable treatment to persons with disabilities because:

ardafas 3 forsh T st F dtver Feanat 3k 3@ i sreraraast gaa safFaat F g =ETaT

[Question ID = 24573]

1. 'state’ has the responsibility to ensure access to all spheres for persons with disability. / 31RrercdT Jerc
cafFaat & T @l sl deh qga AR =T Teg 7 afca & | [Option ID = 38288]

2. the persons with disability will easily follow all the orders and can be easily controlled. / 3TRTeFcdT gl
cafFra @eft 3SR T TESTT T UTeled hidl AR 3og AT & A fovar ST @erar & | [Option ID = 38290]

3. the person with disability can be hired on low emoluments. / 3RRISFcIdT JeFcl Tl I A ITRATAR T H1HA
X T@T ST FehelT & | [Option ID = 38287]

4. it will enhance the social image of the private organisations. / 3% A<l TIGAT ST AR BT F&alT |
[Option ID = 38289]

Correct Answer :-
« 'state’ has the responsibility to ensure access to all spheres for persons with disability. / 3TRreFedT e

IfFat & fore Tl &1l I Tga AT P Teg &7 afded ¢ | [Option ID = 38288]

21) If a type of sampling consists of selecting every Kth sampling unit of the population, after
the first sampling unit is selected at random from the total of sampling units it will be:

I wideet aaa & et R & For gfowae sl ¥ yuH 9fawae 5978 & Aefeos dh | ga o & a1g
AR F & y3F K yfd=raet so€ &1 99 anfaar €, ot 98 9= g :

[Question ID = 24547]

1. purposive sampling / @22 9faeel T [Option ID = 38184]
2. systematic sampling / egaf&ad fage o= [Option ID = 38186]



3. convenient sampling / gfatrsiareh Gfciesl =g [Option ID = 38183]
4, random sampling / TTefeas ufaes! Ta=T [Option ID = 38185]

Correct Answer :-
« systematic sampling / sgafEua ufaes! aa= [Option ID = 38186]

22) Amit's mother was upset to find that Amit had not picked up his building blocks after
repeated requests to do so. The next morning, Amit found all his blocks had been picked up and
put into a bag on the top of the refrigerator. Amit's mother told him that he could not play with
his blocks for the next two days. Which type of discipline did she use?

Ffaa & A7 T8 @ W ot T aR-aR Fger o1 oft AT F s Rfeser satw 7t 3o & | Jrereh gaw
IATAT R IEF afisais T RT T iRt T A s T F IR @ RA TS | FPIT AT
30X FgT o 98 J9Ter & foeT A 3R € W FHAT | WA W THR F AT T AT B ?

[Question ID = 24595]

1. punishment by removal / 379+T3sT §aRT &8 & [Option ID = 38377]

2. punishment by application / 3= 1eT &aRT &5 @ [Option ID = 38376]
3. negative reinforcement / FhRTcHS gaﬁédd &l [Option ID = 38375]
4. positive reinforcement / §&hRTcHS g?i‘siﬂfrr &I [Option ID = 38378]

Correct Answer :-
 punishment by removal / 31971 TaRT &3 & [Option ID = 38377]

23) Friere's' Pedagogy of the Oppressed ‘seeks to transform individuals from being objects of
educational processes to subjects of their own -------=--=-=---- and emancipation.

Y &1 ‘Sfdl FT1 Rememe’ safFaal #) dfarw aiFansit &1 faeT e 7 3987 399 T F/F ovvveviinnnns sk
AfFa & RAwd & 7 F Fiaia e aear s |

[Question ID = 24576]

1. Pedagogy / f&Temes [Option ID = 38301]
2. Autonomy / E1dcddr [Option ID = 38300]
3. Liberty. / a1 [Option ID = 38302]

4, Life / SfraeT [Option ID = 38299]

Correct Answer :-
e Autonomy / Ea—Icddr [Option ID = 38300]

24) Who amongst the following would believe that “critical consciousness requires recognition
that an individual’s social status, including educational and economic expectations and
opportunities, is largely determined by race, ethnicity, gender, and class"?

AT A q Fi7 I8 A & aifFs TTaT 1 57 AT HY ATF2THAT 2 § & afFa-fdy i dMaw
wa 3T 3rdeqmait 3 3rawRt gfed sud arfors wieufa srfwiera: 3udh yefa, Sstrda T, foer iy a9t
garT fAuiRa g 8 2

[Question ID = 24580]

1. Pragmatic thinkers / caTagies fide [Option ID = 38316]

2. Logical positivists / dTféheh FeaaTarer [Option ID = 38315]

3. Critical theorists / 3TTeiaTcH® [AgTdeR [Option ID = 38318]
4, Social constructivists / TTATISIe fAfAfaarcr [Option ID = 38317]




Correct Answer :-

« Critical theorists / 3TelIATcHS fAgdeR [Option ID = 38318]

25) To know the overall trend of the goals and aspirations of government school children, the
most appropriate method would be:

TER FaeITerT & et & C3aT 3R i daeh T F O 7§ T F v waifts sugea R geh

[Question ID = 24564]

1. Case-study / egfecidee 3regdel [Option ID = 38251]

2. Experimental research / 9aTaTcde 2ier [Option ID = 38253]

3. Survey / @daToT [Option ID = 38252]

4. Causal-comparative research / SRUTcHeh-JcfeTlcHe emrer [Option ID = 38254]

Correct Answer :-
« Survey / gde&ToT [Option ID = 38252]

26) In which of the following tests non — parametric statistical treatment of data is done?

fArafaf@a & ¥ wla-ar wator geq I & dv-yrafow gifegda Awgor & v R aarg ?
[Question ID = 24551]

1. Analysis of Covariance / Ig 980T faelyoT [Option ID = 38202]
2. Factor Analysis / 3JuTieh fa2elwoT [Option ID = 38200]

3. t-Test / t-9r&7oT [Option ID = 38201]

4, Chi Square / FIS-TFaTR [Option ID = 38199]

Correct Answer :-
« Chi Square / #T$-FFaaX [Option ID = 38199]

27) Type II error can be minimized by:

T3 11 3R 't 7garas Ran o1 gael1 § —
[Question ID = 24560]

1. reducing the level of significance. / Agccd & T @l TeTH [Option ID = 38237]
2. changing the sample size. / 9fage! & 3TATT & sgarehT [Option ID = 38236]

3. replacing the instrument. / 39X0T T Sgere [Option ID = 38238]

4. increasing the level of significance. / ATY&dT TR T F6Ta [Option ID = 38235]

Correct Answer :-
« reducing the level of significance. / #Fgccd & TR &l Gera [Option ID = 38237]

28) In the APA (6th edition) citation style, APA stands for

APA (3T TTHIOT) 3goT et F APA FaT§ ?
[Question ID = 24570]

1. Asian Psychological Association / Asian Psychological Association [Option ID = 38277]



2. Australian Psychological Association / Australian Psychological Association [Option ID = 38275]
3. American Psychological Association / American Psychological Association [Option ID = 38278]
4. African Psychological Association / African Psychological Association [Option ID = 38276]

Correct Answer :-
« American Psychological Association / American Psychological Association [Option ID = 38278]

29) Consider following two statements about scales of measurement and tell which scale fits
both the statements?

Statement I- Scores are expressed in equal units.

Statement II- There is a true zero from where the measures are taken.

A1 AT & doATe F Faer F &Y Fyer oA 1w § | Fler-ar YA At YT F Foaw A 3UgFA L ?
FYT I -9TCdi AT SHISAT # FfATFd FT AT E |

FYT II -4A W aafas AR @aTE ST AT /v aa § |

[Question ID = 24555]

1. Nominal scale / siTT&d #ATIT [Option ID = 38218]
2. Ratio scale / 3eJqTcl ATY=IT [Option ID = 38215]

3. Ordinal scale / &g AT [Option ID = 38216]
4, Interval scale / 37cRTeT ATI=T [Option ID = 38217]

Correct Answer :-
* Ratio scale / 3791l ATI=IT [Option ID = 38215]

30) Match the following:

1. The cognitive schemas used by social perceivers i) Stereotypes
to process information about others.

2. It can be typically conceptualized as an ii) Prejudice
attitude that has a cognitive component.

3. It is about denying individuals or groups of iii) Discrimination
people equality of treatment which they may wish.

4. It refers to inappropriate and potentially unfair

treatment of individuals due to group membership.

fArafaf@a & faw i

1. gE & fawr F e wshaor & fv aenfas i) TETeT

2. 3@ FHAR W ¥ Ifdgica F w9 F wfeud frar i) qdarE
ST 8, oaH TAACHS gew 8

3. 38 =afaa a1 safFadl & ¥ @RI siRed s9aEr iii) fastes
& FHTTAT Y AFRAT

4. I§ AHfES FEEIAT & HROT SATFAAT & AT TS IHagFed
3R i sgaer # fAfdse wwar @



[Question ID = 24583]

1. 3 (i) 2 (ii) 1 (iii) [Option ID = 38329]
2. 1 (i) 3 (ii) 2 (iii) [Option ID = 38330]
3. 1 (i) 2 (ii) 3 (iii) [Option ID = 38327]
4.2 (i) 1 (i) 3 (iii) [Option ID = 38328]

Correct Answer :-
o 1 (i) 2 (ii) 3 (iii) [Option ID = 38327]

31) ‘Hypothesis’ in research is a:

T eer A ‘UFFeTAT —
[Question ID = 24557]

1. factual statement. / AZaTcHAS S & | [Option ID = 38224]

2. tested statement. / TIT&Td U & | [Option ID = 38225]

3. conjectural statement. / HﬂﬁﬂTﬂTﬁH %Y g | [Option ID = 38223]
4, recorded statement. / 3TfATeIf&d FUT & | [Option ID = 38226]

Correct Answer :-
» conjectural statement. / aﬂmmmﬁ?raw?r%‘ | [Option ID = 38223]

32) Kurtosis of a frequency distribution of a research data is less than 0.263, then the
distribution is......

My-3hsl F AgFeT ITaee A FFHadar 0.263 F FH g1 df Araea g1 —
[Question ID = 24565]

1. Leptokurtic / 3T el [Option ID = 38258]
2. Platykurtic / EdTE shepeT [Option ID = 38255]
3. Skewed / fawa [Option ID = 38257]

4. Mesokurtic / FET el [Option ID = 38256]

Correct Answer :-
« Leptokurtic / T sl [Option ID = 38258]

33) Fatima has got a new cell phone number, but finds herself giving her old one when someone
asks her for it. This is an example of

FIAAT $Y U 74T FABIT FaT TRl & freq a5 arelt & B Rl & aAioret o1 Qe e &1 & 3t § | 9% 3ameeor @

[Question ID = 24590]

1. memory trace. / ¥l 19 & [Option ID = 38357]
2. memory decay. / Fﬂ'ﬁrmaﬂ [Option ID = 38358]
3. proactive interference. / 37aIeT&l g€&TT &1 [Option ID = 38355]
4. retroactive interference. / qderafl g&caid s [Option ID = 38356]

Correct Answer :-
o proactive interference. / 37aIeT&iT g€d&Td T [Option ID = 38355]



34) What is the relationship between negative reinforcement and punishment?
AFRIcHT JaAda 3 g5 A FAqTHaw § ?
[Question ID = 24589]

1. Both tend to weaken a response. / @leit # 3efshdT T HHAGN Hiet I Tgfed glcil & | [Option ID = 38352]

2. Both tend to strengthen a response / &=t & m Y GEG i T l;laﬁ-r gidr & | [Option ID = 38351]

3. Negative reinforcement weakens a response wh|Ie punlshment strengthens a response. [ JhRTcHS goﬁddd
IeIfSRAT T HAGAR FAT & STafeh &3 HeIfohdT T Geg < &1 [Option ID = 38354]

4. Negative reinforcement strengthens a response while punishment weakens a response. / AhRIcHS g?rsiﬂ?r

IITShAT T FEG Il § STdich &3 eI fshaT hl HASIN Il &1 [Option ID = 38353]

Correct Answer :-
» Negative reinforcement strengthens a response while punishment weakens a response. / dhRIcH%

YeASoleT 3Te]TshdT T GG AT § STdich &3 ITaIfshaT T HAGN Al &1 [Option ID = 38353]

35) A child with linguistically different background studying in grade two (in a class with
majority speaking same language) is appearing for assessment. Which of the following would be
the most suitable approach during the process of assessment?

e e s qeasfr arer a=2 (30 FAT # FATGTAR qo2 WATS 19T Seld §) T AT FH&T & 7 gl 5, HedidweT
o s @ | feafaf@a & & wla-ar sunrs Ao gfwar & v waifts sugea g ?

[Question ID = 24575]

1. Child should be asked to learn the language of majority of students before assessment. / ﬂfmﬁh_a-r o l{c‘f
FTd ol eI F ITATET gl hl AT &= & foIT &gl ST 1w | [Option ID = 38296]

2. Parents should be asked to make the child learn the second language for assessment. / ATAT-TIdT & Fgr
ST =TT 6 =2 Y Hedishet & forw @y et f&w@m? | [Option ID = 38298]

3. Assessment should be done in the language of the majority of the students of the class. / HW HaTT &
3TOEET gl ST HWT H fohar S arfge | [Option ID = 38295]

4. Assessment can be conducted in child’s first language. / HedTeheT ST I TUH HATST # AT ST HeheTT & |
[Option ID = 38297]

Correct Answer :-

« Assessment can be conducted in child’s first language. / HeaTeheT <t T TUH HINT H ThaT ST HebelT & |
[Option ID = 38297]

36) Man is born free but everywhere in chains. So freedom not being absolute, who said
“Freedom entails responsibility”?

HST FeHAT Fq ¢ o] 6 ST91E qe aeall 7 4T ¢ | 37T T o 7dh ¢ | oY T2 sy a1 %
“FEAAAT Seaialidcd ah AT § 1"

[Question ID = 24571]

1. Sri Krishna in Bhagvad Gita. / $13Taegiiar & #iietor & [Option ID = 38279]
2. Sri Aurobindo. / #T 3Rfdg = [Option ID = 38280]

3. J.J. Rousseau. / 1. 5. &4 o1 [Option ID = 38281]

4, Jean Paul Sartre / 9T 9iel AT o7 [Option ID = 38282]

Correct Answer :-
o Jean Paul Sartre / 53T 9iel &1 & [Option ID = 38282]



37) Right of Children to Free and Compulsory Education (Amendment) Bill, 2019 states that :

I. Child can be expelled from a school before the completion of elementary education.

I1. There shall be a regular examination in the fifth class and in the eighth class at the end of
every academic year.

II1. The appropriate Government may allow schools to hold back a child in the fifth class or in the
eighth class or in both classes

IV. If a child fails in the examination, he shall be given additional instruction and granted
opportunity for re-examination within a period of two months from the date of declaration of the
result.

for:erew va sfaard arer Ryam sfsr (Ffaa) fe, 2019 ¥ sER

I. ﬁﬁq@mﬁmﬁwﬁ#ﬁﬁmw#ﬁmﬁa%mm%l

IL. Y% FEiE a¥ & 3id # oredt 3R amadt Fam & Prafia gdam @ Wi |

IIL. ¥R SXFR Rrerdt 1 aied 3r2ar Aadt a1 A 4T Skl FATAT 7 Jet Y AT & THAT ¢ |
IV. uﬁaﬂéwqﬁm#mm%aﬂwmﬁwmmﬁﬂﬁmﬁmwﬁﬁﬁr#am#
m*m?ﬁmmmﬁmmml

[Question ID = 24594]

1. Only I and II / &aer I 3R II [Option ID = 38371]

2. Only II, 111, and IV / aaef II, III 3iX IV [Option ID = 38374]
3.0nly I, IT and 1V / &haer I, II 31X IV [Option ID = 38373]

4, Only I, 11, and III / 3aer I, II 3iR III [Option ID = 38372]

Correct Answer :-
e Only II, ITI, and IV / sad II, I1I 3iiX IV [Option ID = 38374]

38) Hypothetical-deductive reasoning develops in

WTFFeUTIE feTHATHE arfdedr &1 e Sar & —
[Question ID = 24577]

1. concrete operational stage / ﬂg—‘r Hferarasar & [Option ID = 38304]

2. pre-operational stage / q& |fshara®T 3 [Option ID = 38305]

3. sensory motor stage / HA&T 9 ITEUT H [Option ID = 38303]

4, formal operational stage / 3iro=ies @fshararar & [Option ID = 38306]

Correct Answer :-

« formal operational stage / 3= Efsharaear & [Option ID = 38306]

39) The curriculum planning at any level of education should include the diverse socio-personal
experiences of the students because:

fRret & forelt off T oX wrgwEat fraerer F Rranfdat & RAfrearget warer - SafFas sepemal st anfae R
ST =nfee Faifn

[Question ID = 24574]

1. it is significant for engaging them with new ideas and ways. / 3¢ AT fGaRT 3R AHT & T HoleeT fohar
STIeIT AgeeaqoT § | [Option ID = 38291]

2. it is important to appease the communities for the purpose of gaining votes./ Hd 9Tl & Yalotel & TG
Y G &A1 Ageea o ¢ | [Option ID = 38294]

3. the students are not interested in learning anything other than their own ideas. / ﬁajemﬁ 39 TS foary
o HfaRerd Fo o 3R dr@ar =787 e | [Option ID = 38292]

4. the parents and communities are against including experiences other than that of their own community./

HfrsmTas R T 3r9a @HE F AfaRed 3w GHerl & epsrat &t anffer e & fawg € | [Option ID



= 38293]

Correct Answer :-
« it is significant for engaging them with new ideas and ways. / 3¢ a0 AR 3R alreT & T FereT fhar
STTeAT AgcedquT & | [Option ID = 38291]

40) The effect of Kant’s pedagogical method is to lead the child to :

I: The realization of its own freedom;

II: Determination by another must be transformed into rational self-determination;
III: Primacy of theoretical over practical learning.

F1ue Y RramerEhT A F1 93T =3 F FTE FATE -

I: 3T T T TadeAdT & TgATT Y 3R

II: 3 gaRT freRor & 3Taea® i W arfdhe Arer-faeor & siaia @ #ir 3k
I11: SaTgeTiR A 9 Jgifas it i yenaar Y 3R

[Question ID = 24572]

1. II & IIT / II 3iR III [Option ID = 38284]
2. I & III / I 3iR III [Option ID = 38283]
3. 1&II/ 1 3R II [Option ID = 38285]

4., only III / shaer III [Option ID = 38286]

Correct Answer :-
o I&II/I3RII[Option ID = 38285]

41) The main contribution of Bourdieu’'s work in education lay in the development of a broad
theory to explain the reproduction of:

AT & e Faeh F1 F1 qET e FAFafaf@a & F fFad qaecured F Fose F:a F fav samaw Rgrea &
fafea e ?

[Question ID = 24582]

1. economic and political inequalities through class, and the legitimation of these inequalities through
misrecognition. / F37 & 3MUR W 31 3R T ITTATTATY 3R 3o ITAATTIATSAN ST ITeld AT Goh
JefioT & [Option ID = 38325]

2. economic and political inequalities through class, and the legitimation of these inequalities through
recognition. / @31 & MR W 3T 3T A=A FTATTATY R o7 IITATAATIN Y AT S defiergor
% [Option ID = 38324]

3. cultural and social inequalities through education, and the legitimation of these inequalities through
recognition./ RI&TT & 3R TR HiEhide 3R AHATSS HEAAATE 3R 3T HTATANIN T AT S
gefrentor & [Option ID = 38326]

4. cultural and social inequalities through education, and the legitimation of these inequalities through
misrecognition. / fA&T & 3MUR R AiEhida AR AT FFATTAT AR ST FFATAATIHT T el Ao
g defiToT & [Option ID = 38323]

Correct Answer :-

« cultural and social inequalities through education, and the legitimation of these inequalities through
misrecognition. / fRI&T & 3TUR W AFH{de AR ATATSS HEAHAT 3R ST IFFATAAIN T el AT
&Y AeIROT & [Option ID = 38323]

42) The concept of schema has its historical roots in ........c..coeiveunnnee philosophy.

FHAT A 3raerRom A UATTRF T vevvverieen FaAaHE |



[Question ID = 24578]

1. Berkley’s / sishel [Option ID = 38310]
2. Hegel’s / €31et [Option ID = 38307]
3. Plato’s / Teler [Option ID = 38308]
4. Kant's / s1ue [Option ID = 38309]

Correct Answer :-
e Kant's / @1ue [Option ID = 38309]

43) The word 'positivist' seems to refer to those accounts, which study systematically what is

‘TeIETATEl’ 2rsg 34 [Aavoi & fAfEse wyar ydia a1 § S cHaiyd ¥ & 9§ NeqIqT FIaT § & 41
[Question ID = 24581]

1. hidden, abstract and cannot be observed directly./ ¥&wsT, 33T 3R TcaaTd: YaTofg =1&f § | [Option ID =
38320]

2. bound to give positive contribution to the society. / TATST H HHRIcHS TR ¥ o [oIT &g & | [Option ID
= 38321]

3. clear, factual and open to observation. / TIs¢, d2aTcH® 3R eoir § | [Option ID = 38319]

4. clear, abstract and open to observation. / ¥ase, T 31X 9aofir § | [Option ID = 38322]

Correct Answer :-
« clear, factual and open to observation. / TS, dZaTcHS 3R Y&Tofr § | [Option ID = 38319]

44) The key difference between ‘bibliography’ and ‘references’ is:
‘g 3 wes-gEr # gE Aaw e -
[Question ID = 24562]

1. They both should be listed separately to show the rigor of the study./ 31€IIe F FSAT FI g2t F fow
arst T g &9 § Fellag AT ST =1fgw | [Option ID = 38246]

2. They are interchangeable terms./ ¥ gl WREUX IRATHT UG § | [Option ID = 38245]

3. The latter includes all readings, whereas the former includes only the cited ones./ STg arel & T3 ITo-T48
TR gl § STafeh gl aTel 7 hddl 3G II6-TIE &7 A g1 & | [Option ID = 38244]

4. The former includes all readings, whereas the latter includes only the cited ones. / gl & T3 UTs-Ha8
AMTAS gl § STafeh a1 dTel H shadl 3g§d IS-HIE &F eMfA gid & | [Option ID = 38243]

Correct Answer :-
« The former includes all readings, whereas the latter includes only the cited ones. / 9gel 7 T UTa-TaIg
ATTH EId & STafeh J1G dTel H hddl 3G UTS-HIE &f eMfAe 8ld ¢ | [Option ID = 38243]

45) The following is a list of topics suggested for research. Which one of the following topic is
not appropriate for ethnographic studies?

A1 v e & fA gee v Fo fawAt Ay gt @ | s @ Fla-an v gl sreawat & v sugFa adt e ?
[Question ID = 24549]

1. Studying students — teacher relationship in a rural primary school / ITHOT grafRe Aearery 7 fagardt-
freTeh Tt &1 37eTT [Option ID = 38191]

2. Studying effect of media coverage upon the outcome of demonetization / fa#giehtor & aRuTAT 9X #fsar
HALST oh THTT T 3TETTT [Option ID = 38194]



3. Studying social relationship in a class of emotionally disturbed children / HA3TcHS &I & YRR STelehl ST
HETT H FTHAToIeh T &7 37eTTeT [Option ID = 38193]

4, Studying the changes in attitude and behavior in a drug abuse rehabilitation centre / sTefrell gar3ii & difsa
el & fIT goTaTe dhg; & 3e7eht HAGTeet 3R egagR & gRacisil sr 3reaze [Option ID = 38192]

Correct Answer :-

« Studying effect of media coverage upon the outcome of demonetization / fa#[gIRUT & TROTAT IR A fSAT
HAIST o THIT T 3TETTeT [Option ID = 38194]

46) The mean and standard deviation of a set of scores are 80 and 12 respectively. If each raw
score is increased by 4 then new mean and standard deviation would be:

3T & T FHAT T ATET AR AT faaers Haer 80 3R 12 § | I IAF JUTTCd GHE HY 4 Fo1 37w Sme
ar T ATy AR AF fwree g -

[Question ID = 24554]

1. 80, 16 [Option ID = 38212]
2. 80, 12 [Option ID = 38211]
3. 84, 12 [Option ID = 38213]
4. 84, 16 [Option ID = 38214]

Correct Answer :-
o 84, 12 [Option ID = 38213]

47) A researcher should use large sample size when:

I: there are many variables to study.

II: the sample is heterogeneous in terms of the variables under study.
III: reliable measures of the dependent variable are unavailable.

1V: there are enough financial resources.

Which among the following is true?

MerFear Fr 93 wface F1 39ANT FIAT AR, ST
I 3T & AT IAF I El |

II 3reaasT & farw yfagel & a3 R &t |

III 3P =X F fore feaws T AT9s 3qaer T8 |
IV 9aTed e WHTer 3estr gl |
ARRT A I sT-TTaT g ?

[Question ID = 24558]

1. 1 & III / I 3R III [Option ID = 38229]

2. 1&1II/13R II [Option ID = 38230]

3.1, II & III / I, II 3{X III [Option ID = 38228]
4.1, I &IV /I, II 3R IV [Option ID = 38227]

Correct Answer :-
o I, II&III/ I, II 3iR III [Option ID = 38228]

48) Phenomenology has its disciplinary origin in:

TRIECHT faaATeT T AT AT 8

[Question ID = 24585]



1. Anthropology / jfa=iTef # [Option ID = 38336]
2. Psychology / #=itfa<ieT & [Option ID = 38338]
3. Sociology / TATSIMET 3 [Option ID = 38337]
4, Philosophy / &2¥=T & [Option ID = 38335]

Correct Answer :-
« Philosophy / &2f=T 3 [Option ID = 38335]

49) You are shocked to hear that two of your coworkers who seemingly hated one another are
now getting married. According to Freud, what defense mechanism best explains their prior
behavior?

31T 3 a1 HY GAF Hool ¢ 1 ATIF &l HEHAT o) TH-G@X & AT Fd T g &, T Fag v @ & |
WIS & ITHR FieT-AT FARET-0F 3eTah qdacl SqTER HI TISC FIAT ¢ ?

[Question ID = 24592]

1. Regression / 9fca9r#eT [Option ID = 38366]

2. Projection / w&IqoT [Option ID = 38363]

3. Repression / ¢HsT [Option ID = 38364]

4, Reaction formation / fafshar-faermeT [Option ID = 38365]

Correct Answer :-
» Repression / &HsT [Option ID = 38364]

50) You are a teacher in a secondary school and you find your students very creative. How
would you study the link between their creative expression and their academic achievement?

3ma A=l Regrey # e § 3R o) 3 Regndt sga goraiens @91 § | 319 37 goraeas
sifcaiFa sk s A svafey & waw 1 sreaws 3 w46 ?

[Question ID = 24563]

1. By trend analysis / 9gfcet fagewoT & [Option ID = 38247]

2. By correlational research / TgHaTcH® T I [Option ID = 38249]

3. By causal-comparative research / HRUTcHH-JelIlcA MEr § [Option ID = 38248]
4. By semi-projective techniques / 3T-9&TdY deheitenl & [Option ID = 38250]

Correct Answer :-
« By correlational research / Tga«tTcae er & [Option ID = 38249]



